Chap 10 Pre-Equilibrium Example: Slide #5

~ April18 Reaction: Hgz?* + TI* - 2 Hg? + TI*
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Chap 11 Calculation of Percent Inhlbltlon (i%)
April 25 Sllde #45 ' _

An enzyme catalyzed reaction has the}pal"amet_ers,
Kmw = 6.8x10°M, Vi, = 60 pM/min , [S] = 1.5x10* M

The inhibitor parameters are: K= 1. 7x"I-04 M, [1] = 3.5x1 03'4 M

(a) Calculate the percent activity and' percent |nh|b|t n for M
L «w 3 A f

Competitive inhibition.
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Chap 11 Calculation of Percent Inh|b|t|on (i%) [Cont d]
April 25 - Slide #45 :

An enzyme catalyzed reaction has the parameters
Km = 6.8x10° M, Vi, = 60 pM/min , [S] 1. 5x104 M

14

The inhibitor parameters are: K| =1. 7x1 04 M, [1] = 3.5x10* M 'l/(;
(b) Repeat the calculation igor U.ncompett,t;ve-mhlbltlon. ~ E 30(
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Chap 11 Calculation of Percent Inh|b|t|on (i%) [Cont d]
April 25 Slide #45 |

An enzyme catalyzed reaction has the parameters

Ku = 6.8x10° M, Vin = 60 pM/min , [S] = 1.5x10* M g \/@‘: P[
The |nh|b|tor parameters are: K, = 1.7x10 M, [I] = 3.5x10* M | y e
(c) Repeat the calculation for Noncompetitive inhibition. / LT]
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Chap 11 Calculation of [I] needed for specmc |%
April 25 Slide #46 | | |

An enzyme catalyzed reaction has the parameters
Km = 6.8x10° M, Vin = 60 uM/min , [S] = 1.5x10* M.
The inhibitor equmbrlum constantis K= 1. 7x104 M.

What inhibitor concentration, [1], i is requwed to obtam
60% inhibition?

(a) For Competitive inhibition. \ s 0 |
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Chap 11 Calculation of [I] needed for specific i% [Cont d]
April 27 Slide #46 , _

An enzyme catalyzed reaction 'has the parameters,
Km = 6.8x10° M, Vi, = 60 uM/min , [S] = 1.5x104 M.
The inhibitor equilibrium constantis K= 1.7x1'04 M.

What inhibitor concentration, [I], is required to obtain
60% inhibition?
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b) For Uncompetitive inhibition. /%
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Chap 11 Calculation of [I] needed for specific i% [Cont d]
April 27 Slide #46 _

An enzyme catalyzed reaction has the parameters,
Ku = 6.8x10° M, Vi, = 60 uM/min , [S] = 1.5x10* M.
The inhibitor equﬂlbrlum constantis Ki=1. 7x104 M.

What inhibitor concentration, [lI], is required to obtain
60% inhibition?

(c) For Noncompetitive |nh|b|t|on . \/>




